Ft—F XRREHEETN

R e o e

else

pRe-—>Movelext [);
}

srand{ (unsigned) time{NULL));

3
J

rand (] ;

(7 * 20} % { k - 27});

while{j = 0

{

}

PRs-=MoveNext (};

J--3

while{!pRs->ADOEOF!

{

strepy (m_strSgl. "Insert Testprocdetail (SID, QHNO,

PTvpe, Q) values{");

strcat m_strSgl. m_strSID);

sLreab im_strSgl, ", ")

_itcaf{i, m_strBuf, 10);

strcat (m_strS3gL, r_strBuf);

Strcat(m_strSag’. *, ") ;
strcat (m_strSgl, 1"y ;

streat (m_strSgl, "y "};

PRe->Fields-»GetIter {"QID"}->

get_Value{&m_varDatal;

_itoal(m_varData.ival, m_strBuf, 10}:;

streat{m_strSgl. m_strBuf!;

streat (m_str3qgl. *1"};
plonn-s>Execute (m_strSqgl,
i++;
1f (i » 54}

bhreak;

DRs->MoveNext () ;

&IN_varMbNuml,

-1};
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)
DEs->»Close{);
/R
pRs = pConn->Execute{"SELECT QID FREOMMULTIZLYY, &m_varNum, -1);
k= 0;
while [!pRs-xADOROE)
{
k =k + 1;
pRe-=MoveNext () ;
}
pRs->MoveFirst {);
if (k < 28)
{

while (! pRs->ATOREOF)

i

stroepy (m_str8gl, "Insert Testprocdetall (SID., ONO.
QType, Q) values("};

streat {m_strsql, m_strsiD);

strgat (m_strSgl. ", "i;

_itoafi, n_strBuf, 10):

streat {m_strSgl. m strBuf};

streat (m_strsqgl. ", "I;

gtreat (m_str3gl, "2"};

strecat (m_str8gl, ", "i;
pRs-»Fields-»>GetTtem{"QID") ->
get_Valuei{&m varDatal):

_itoal{m varDsta.ival, m_strBuf, 10);
streat (mostrsgl, m_strBuf}:

streat (m_strigl, "i");

plonn->Execute (n_strsSgl, &m_varNum. -13;
L++;

PHs->MovelNaxt {) ;
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srand{ (unsigned) time (NULL)}:
i = rand{);
- (3 %20 % (k- 27);
while{} > 0!
£

pRs-=MovelMNaxt (] ;

i--;
)
while(!pRs *ADOEQF)
{

stropy (m_strigl, "Insert into Testprocdetail {gid,

QNC: QTvpe: Q) values["};
strecat (m_strSqgl, m _str8iD;);
strcat {m_strSgl, ", "];
_itoa(ls n_streuf, 10):
strcat {m_strigl. m_strBuf);
strcat (m_strsSgl, ™, "y
streat (m_strSqgl. *2");

streat {m_strsgl, ", "“};

pRs-»>Fislds->CetItem("QID") >

get_Value (&m_varDatal:

_iteca(m varData.iVal. n_strBuf,

strcat {m_strSgl, m_strBuf];

strcat{m_strsgl, ")"):

10%;

plonn-»Execute(m_strSgl,. &m_varMNum,

44
if {1 = 8¢)
break;

pRe->MoveNext () ;

-1):
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}
pRe->Close():
pConn~>Close(};
*¥_Success=1:8ysAllocString{L"Operate Succeed”);
}
catchi{., .}
{
if {(pConn != NULL)
{
pConn-»Close()
t
*X_Success = ::5ysAllocString (L "Error Occured");
raturn S5_0K;
}
return 5_OK;

}

IcaculateScore O MCHL, X PMEOQFTHE ik CaculateScore( ).
CaculateScore ZMIBFEMMBEEREHHESRNBEAT I E L LM I,
CaculateScore F B T A QuestionInfo FAY GetQuestion H . X T LIAIXA4
HH, 7T UFUIAPER:

(1) EMAMH Questioninfo. FEMAMFK T AEHH, —WEEGLTPH
fT regsvr32 Questionlnfo.dll: 53— {HH) Win2000 B AR E . HAEHSH
FHTEANE TS COMHNEAdET, EHABESR.

(2> # M3 . 4 Questioninfo 414 K AT QuestionInfo.tlb 343 B Exam
RIT/EAET. .

(3> SIAZH. 7E Stdafx.h JCHF AW FiEA]:

#import “QuestionInfo.tlb” no_namesgpace

(4) FEXHFERF—T IcaculateScore HIHIER, BEMITHMBEDARST
BARR. £ ATL OBJECT Wizard 3% % MSTransaction Server Component, 1%
11-7 B, SRJGHE MTS JA %7 H3%#F Suport TobjectControl, HE 11-8 FiR. X
ERRANT RIEAH B S5,
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Bl 11-8  “ALT Object Wizard B ” #1E4E

(53 LH CaculateScore k. HEEMKRTFE m_pQuestion:
IQuestionPLr m_pguestion;
#JG7E CaculateScore () B EP B N F LMD (R 11-3-8):
BEFF 11-3-8:
STDMETHODIMP CCaculateScore::CaculateScore(int x nsSID,
BSTR *»_Success)
{
A/ TODO: Add your implementation code here
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Lry

if
(FAILED{pConn.Createlnstance{__uuldof {Connection) i}

J*ET AD0 I Connection &/

{
*x_Success - :1:8ysAllocString(L"Couldn't create
connection component!');
return 5_0OK;

}

if {FAILED({pConn->Qpen("Provider=MSDASOL.1;

Password=; Persist Security Info=True:User ID=SA:

Data Scurce=EX2M;Inizial Catalog=BXaM", "v, "7, -1}))
/e BALERE
{

*X_Success = ::SyshAllocSIringiL'Couldn't open

connection!");
raturn S_0K;
}
/* BWFESH x_nsID FiXFBLRE ~/
char m_styBuf[10];
char m_strsgl [256];
CCorBSTR m_kstrsSgl:
ClomVariant m_varNum;
ClowVariant m_varData;
strepy Im_str8g., "select * from testprocdetail where §IC="];
_itoa{x _nSID, m_strBuf, 10};:
strecatim strSqgl, m _styBuf);
PRs = pConn-»Execute({m_strSgl, &m varNum, -1);
if (pRs-~ALGEQF)
{

*x_Success = ::3ysAallocString (LKoo such records for the
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specified student!”");
return 5_0DK;
}
CComVariant m_varDatal:
pRs->MoveFirst{);
int i=1;
m_nScore=0;
/* FFaE RS i+
while(!pRs->ADOEJF}
{
char m_strFieldName[20];
int m_iQtype, m_iQID;/*fFHEEEHRBAME 1D/
short m_iAnswer;
stropy Im_striieldName, "QTYFE");
pPRs->»>Fields->Getltem{m_strFieldName) ->
get_vValue{&m _varData);
if (m_warData.vt = VT_NULL}
{
m_igtype=m_varData.ival:;
strepy (m_strFieldName. "Q");
pRs->Fields->CetItem{m strFieldName)-:»
get_Value(&m wvarData);
if {m_wvarData.vt !'= NU.LL)
{
m_iQID:ﬁ_varData.iVal;
if(t::Colnitialize({LPVOID}0}) //4%HG 1
{

*x_Success=::8yshllocString (L"Initianlize failed");
return 5_0K;
}

if (FAILED(m_pQuestion.CreateInstance | _tuidof(Question) ')/ /{804 2
{




216 Visual C++ B 5 ) 47

*®_Success=::5ysalliocString{L"Failed in creating Instance”i;
return S_O0K;
s
m_pQuestion->GetQuestion(m_iQtype, m_iQID); //fLI%3
m_pQuestion->get_Answer { &m_iAnswer) ;/ /¢ 4
strepyim_striFieldNames "A"});
pRg->Flelds-»>GetITtem{m_stxFieldName) —»

get_Value{&m_varData) ;

if{m varData.vt [= VT_NULL])
{
if{m_varData.ival == m_iAnswer |
1
m_nScore -= 2;/*HEREIEWWAT KT/
}
}
}
else

*x_ Success=::SysAllocString{L"cne guestion ng

answer."j:

PRe-=MoveNext {} ;

}

/T E B RA AP TestResult Px/
strepy (m_str3gl, "INSERT INTO TESTRESULT(SID. TESTDATE,

SCORE) VALUES(" });

_itoa{x_nsID, m_strBuf, 10);
streabt {(m_str8gl, m_strBuf):;
strcat {(m_strSgl, ", GETDATE(}s ");
_itoa{m nScore, m_strBuf. 10);
strcat (r_strSgl, m_strBuf);
strecat (m_strsgl, "}");

pConn->Execute{m _str8gl, &m_varWNum, -11:
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strepy {m_str8gl, "UPDATE TESTPRCC SET *INISHFLAG='Y' WHERE
SID="};

_itoalx nsSI m _strBuf,. 10);

strcat (m_strSgl, m_striBuf};

plonn->Execute(m_skrSgl, &m_varNum, -i};
pConn->Closeaf};

m_spObjectContext ->SetComp.ete(); //Ri% 5

*x_Success = ::8ysAllocString({L"Successfully!”);
Colminitialize();
h
catchi,..}
{
*¥_Success = ::S5ysAallocttring (L"Error occurs!);

if (pConn '= NULL)
{
pConn->Close( )
}
m_splbjectlontext ->Setabort (V://fLi% 6
:Colninitializa()
return S_OK;
}
r:CoUninitialize(};/ /X85 7

return 5 0K;

RS 1 BUBHESERE. A8 2 REFHMH Questionlnfo, H T
“Question” #&. 0 3 £iHAH#E D IQuestion ) GetQuestion k. L5 4 £
WA N Question K GetAnswer 775, HEBBHMEREER. X—F2TEEE
R £ GetQuestion B{E—MBLRZPHAAFHBLSHBENNAATE, M
GetAnswer B¥ AL ZE Answer FPHIHERRISEANHERF. Fif, £HRIT
GetAnswer Ji:R, — AT GeQuestion 77k, A8 5 RFHAMSNFTES
FHRARLTFE. 12 6 BRRAAHNFAEESRTERAAR. ENEANA
COM+HIE b, MHAHMBESHECRTTNE, EHRKTIESTT. KB 7E
3L CoUninitialize i# 1 COM B R % .
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ISaveCurrentAnswer 1% FJ5C . [SaveCurrentAnswer X E 5 SaveAnswer
HiE. SaveAnswer B MMAZE: £ ID. BHS. £%. FRA0E. E£E
frd GET—RBRIEE—8D. RI\FEE ID BN TestProc T, FFI AW 8K
Timeleft F&, HIFEFHFEEFH CurentQuestion FEL. REEHRES4% D,
BESEAL TestProcDetail £, HERFHICFE D THANBUEF 1139 B
AR

BF 11-3-9:
STDMETHODIMP (CSaveCurrentanswer::SaveAnswer (int x_ngIb , int
®* noIo, int x_nAnswer, int x_nTimeLeft ., int x nForward, BSTR

*x_ Success)
({
A7 TODO: Add yvour implementaticn code here
Ery
{
if
{FATLED (pConn.CreateInstance{ _uuidof {(Connectioni})})

/*F8a1 connection X/

*x_Success = ;:5yvsAllocStringf{L'Coulén't create
connection component!");
return 5_OCK;

}

if (FAILED{pConn-»Open|{"Provider=MSDASOL,1;

Password=;Persist Security Info=True;User ID=S8A;

Data Scurce=EXAM;Initial Catalog=EXaM", """, "*, =11}}
(R AR R R
{

*x_Succegs = ::8ysAllocString (L "Couldn't open

connection! ")
return S_0K;
}
/*{BX CurrentQuestion. timelefe FH& */
char m_strs5gl[256};

char w_strBufll10]:;
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